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1. Consider the following statements :

1. The Governor of the Reserve Bank
of India (RBI) is appointed by the
Central Government.

2. Certain provisions in  the
Constitution of India give the
Central Government the right to
issue directions to the RBI in public
interest.

3. The Governor of the RBI draws his
power from the RBI Act.

Which of the above statements are
correct?

{a) 1 and 2 only
(b) 2 and 3 only
fe} 1 and 3 only
{d) 1,2 and 3

2. With reference to casual workers
employed in India, consider the
following statements :

1. All casual workers are, cqutlcd
for Employces Prowdek!?und

coverage.
3 A

2. All cagual\ workers are entitled
I‘oﬁrc'gul&wﬁrkmg “hours and
?vac—j;ayment

3. ¢ government can by
a notification specify that an
establishment or industry shall

pay wages only through its bank
account,

Which of the above statements are
correct?

fa) 1 and 2 only
(b) 2 and 3 only
fc} 1 and 3 only
fd) 1,2 and 3

BXC-U-FTHI/68A
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3. Which among the following steps is
most likely to be taken at the time of
an economic recession?

fa) Cut in tax rates accompanied by
increase in interest rate

fb) Increase in expenditure on public
projects

(¢) Increase in tax rates accompanied
by reduction of interest rate

(d) Reduction of expenditure on public
projects

o
4. Consider the following statcme?l\ts\ k

Other things (mmﬁﬁmg unchanged,
markét dcma@)ﬁg \a good might
© iperease if

price of its substitute increases
price of its complement increases

3. the good is an inferior good and
income of the consumers increases

4. its price falls

Which of the above statements are
correct?

fa) 1 and 4 only
) 2,3 and 4
fc) 1,3 and 4

(d 1,2 and 3

[ P.T.O.
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5. With reference to ‘Urban Cooperative

Banks' in India, consider the following
statements :

1. They are supervised and regulated
by local boards set up by the
State Governments.

2. They can issue equity shares and
preference shares.

3. They were brought under the
purview of the Banking Regulation
Act, 1949 through an Amendment
in 1966.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 and 3 only

¢/ 1 and 3 only

(d) 1,2 and 3

6. Indian Govcrnmcnt

llomng?

1 chons f tc Un:tcd States
=
Fe{;al\Rcservc

2. Actions of the Reserve Bank of
India

3. Inflation and short-term interest
rates

Select the correct answer using the
code given below,

fa} 1 and 2 only
{b) 2 only

{¢) 3 only

(d 1,2 and 3

BXC-U-FTHI/68A

Lne dm
influenced b& whﬁ:h of-‘ hc

7. Consider the following :

1. Foreign currency convertible bonds

2. Foreign institutional investment
with certain conditions

3. Global depository receipts

4. Non-resident external deposits

Which of the above can be included in
Foreign Direct Investments?

fa) 1,2 and 3

(b) 3 only
fc) 2and 4

af - \

8. Conmde%th {ollowmg statements ;

Tlit cffect of devaluation of a currency
is that it necessarily

improves the competitiveness of
the domestic exports in the foreign
markets

2. increases the foreign value of
domestic currency

3. improves the trade balance

Which of the above statements isfare
correct?

fa) 1 only
fb) 1 and 2
fc) 3 only
(d) 2 and 3

[ P.T.0.
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9. Which one of the following effects of
creation of black money in India has
been the main cause of worry to the
Government of India?

{a) Diversion of resources to the
purchase of real cstate and
investment in luxury housing

{b) Investment in unproductive
activities and purchase of precious
stones, jewellery, gold, etc,

{c) Large donations to political parties
and growth of regionalism

{d) Loss of revenue to the State
Exchequer due to tax evasi n

10. Which one i\\\c fo lg_}_\)ng is hkely to
5 c&a mﬂatmnar}-u its effects?

{a} Repayment of public debt

fb) Borrowing from the public to
finance a budget deficit

{c) Borrowing from the banks to
finance a budget deficit

(d) Creation of new money to finance
a budget deficit

BXC-U-FTHI/68A

11, The money multiplier in an ecconomy
increases with which one of the
following?

(a) Increase in the Cash Reserve Ratio
in the banks

(b) Increase in the Statutory Liquidity
Ratio in the banks

{c) Increase in the banking habit of
the people

fd) Increase in the population of the

country & m

12, With rcfcrcnccﬁko dian economy,
dcmsmd pu'll lﬂﬂ&)ldﬂ an be caused/
° ufﬁ‘eased by_‘ which of the following?

1. Expansionaq- policies

»

Fiscal stimulus
3. Inflation-indexing wages
4. Higher purchasing power

5. Rising interest rates

Select the correct answer using the
code given below.

fa) 1, 2 and 4 only
(b) 3, 4 and 5 only
fc) 1,2, 3 and S only

(d 1,2, 3,4and 5

[ P.T.O.
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13. With reference to India, consider the

( 4

following statements :

1. Retail investors through demat
account can invest in ‘Treasury
Bills’ and ‘Government of India
Debt Bonds' in primary market.

2. The ‘Negotiated Dealing System-
Order Matching’ is a government
sccurities trading platform of the
Reserve Bank of India.

3. The ‘Central Depository Services
Lid." is jointly promoted by the
Reserve Bank of India and the
Bombay Stock Exchange.

Which of the statements given above
is/are correct?
{a) 1 only
(b) 1 and 2
c) 3 only
{d] 2 and 3

the follomng sﬂcmcms !

R
iy uis mmroﬁnuncc tools to work
m thc watcr and sanitation sector,

27 It is a global initiative launched
under the aegis of the World Health
Organization and the World Bank.

3. It aims to enable the poor people
to meet their water needs without
depending on subsidies.

Which of the statements given above
are correct?

(@ 1 and 2 only
(b) 2 and 3 only
fc) 1and 3 only
{d) 1,2 and 3

BXC-U-FTHI/68A

eV

14, With rcfcrcncc\ to 'Watchrgdll\\ consider

15. In India, the central bank’s function

as the ‘ender of last resort’ usually
refers to which of the following?

1. Lending to trade and industry
bodies when they fail to borrow
from other sources

2. Providing liquidity to the banks
having a temporary crisis

3. Lending to governments to finance
budgetary deficits

Seclect the correct answer using the
code given below.

o
fa) 1 and 2 \@
(b)"‘?only \(\ ;
tJ QLand
D

(d) 3 only

16. R2 Code of Practices’ constitutes a tool

available for promoting the adoption of

{a) environmentally responsible prac-
tices in electronics recycling
industry

(b) ecological management of
‘Wetlands of International
Importance’ under the Ramsar
Convention

fc) sustainable practices in the
cultivation of agricultural crops in
degraded lands

(d) ‘Environmental Impact Assessment’

in the exploitation of natural
resources

[ P.T.O.
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17. Why is there a concern about copper
smelting plants?

1. They may release lethal
quantities of carbon monoxide
into environment,

2. The copper slag can cause the
leaching of some heavy metals
into environment,

3. They may release sulphur dioxide
as a pollutant,

Select the correct answer using the
code given below,

(a) 1 and 2 only
(6) 2 and 3 enly
f¢) 1 and 3 only
(d 1,2and 3

18. With reference to furnace m]-@o‘)ﬁﬁc@“ \

the following statements :
1. Itisa _m%duct @l rjﬁncrics.

(
2.~ Sme indnstries use it to generate
A N\
pokor

3. Its use causes sulphur emissions
into environment.

Which of the statements given above
are correct?

19. What is blue carbon?

fa) Carbon captured by oceans and
coastal ecosystems

(b) Carbon sequestered in forest
biomass and agricultural soils

(c) Carbon contained in petroleum and
natural gas

(d) Carbon present in atmosphere

20. In the nature, which of the follm)
is/are most l:kcly t{)"Bc found Qun:ivmg
on a surface wnﬁmi\{ s}ml?’

[ F}\m
Lichen
3. Moss

4. Mushroom

Select the correct answer using the
code given below.

fa) 1 and 4 only

(a) 1 and 2 only (b) 2 only
(b) 2 and 3 only
fc/) 2and 3
f) 1 and 3 only
(d 1,2 and 3 (d) 1,3 and 4
BXC-U-FTHI/68A 11 [P.T.O.
e e = = S
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21. Which one of the following is used in
preparing a natural mosquito repellent?

{a) Congress grass
(b) Elephant grass
{c) Lemongrass
{d) Nut grass

22. Consider the following kinds of

organisms :

1. Copepods

2. Cyanobacteria
3. Diatoms

4. Foraminifera

Which of the above are primary
producers in the food chains of oceans?

fa) 1 and 2

24. With reference to the MNew York

Declaration on Forests’, which of the
following statements are correct?

1. It'was first endorsed at the United
Nations Climate Summit in 2014,

2. It endorses a global timeline to end
the loss of forests.

3. Itis a legally binding international
declaration,

4, It is endorsed by governments,

big companies and indigenous
communities,

5. India was one of the signatories
at its inception.

Select the correct answcr usin
code given below, (\

fa) 1, 2nnd4 \
{b) ‘1 3&nd @

3 d
() 2 and 3 % % \u
(d)” 2 and 5

() 3 and4 @
(d) 1 and 4 (\ &
23. Cnnmc{cr\t Xol&g‘ahnls

(’ @Hedschog
2. Marmot
3. Pangolin

To reduce the chance of being captured
by predators, which of the above
organisms rolls up/roll up and protects/
protect its/their vulnerable parts?

fa} 1 and 2
(b) 2 only
{c) 3 only
(d) 1and 3

BXC-U-FTHI/68A 13

25. Magnetite particles, suspected to

cause neurodegenerative problems, are
generated as environmental pollutants
from which of the following?

1. Brakes of motor vehicles

2. Engines of motor vehicles

3. Microwave stoves within homes
4. Power plants

5

Telephone lines

Select the correct answer using the
code given below.

fa) 1,2, 3 and 5 only
(b) 1, 2 and 4 only
{c) 3, 4 and 5 only
{d 1,2, 3,4and 5

[P.T.O.
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26. fr=fafaa § A ¥R-w s frees A (Rex 29. Jo Wo o flo g wuida ‘Fim Fel AR

rex) &7 % Frmiem G B v 2
i (@) i a3 Paafon vl 35 e e
(b) e (AwTE) AR FA F o
(o W () (b) FTER I AR A o f ot
(d) Tt (o) i wens F wa ¥y ofmn [ F
fer
. Pt ¥ R o 43 e,

o Wt T T ek @ W R A i R e
Ffes 8% 71 e i &7 E;‘“W*mﬁﬁm**
(a) T T
(b) TGN T . (@) T g wm (qfe o) A

mmaamna a{%@
(c) iERNE Wh w@‘%mﬁ;
(d) TR TH U

28, P & A WD aﬂa;\ \\‘“@ 3"\3"‘“@”@“WWW?\M

(ﬁﬁﬁﬁ?ﬂ‘)i? EESE kR CE:eicik el kcik i
\X\@ 1. gt
v 2. T ()
\<2C wEaar (firedidte) 3. onfesg (FEshen)
4. W g (Wewd) e s
5. 8 TR (JeeR) T e = H mﬂﬁ"ll
AR R M gz B i w T W g (o) w12
fa) ¥a@1, 234 =yt U
() ¥@2, 3, 435
(© ¥1,395 () ¥ 13h 3
{d) 1.2.3,43&(5 - (d) 1.23‘“3
BXC-U-FTHI/68A 14
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26. Which one of the following is a filter 29. The ‘Common Carbon Metric’, supported
feeder? by UNEP, has been developed for
(a) Catfish (a) assessing the carbon footprint of
. building operations around the
(b) Octopus sworkd
fc) Oyster
(b) enabling commercial farming
(d) Pelican entities around the world to enter
carbon emission trading

27. In case of which one of the following (¢) enabling governments to assess the
biogeochemical cycles, the weathering overall carbon footprint caused by
of rocks is the main source of release their countries

of nutrient to enter the cycle?

(d) assessing the overall carbon foot-
print caused by the use of fos:ul

() Nitrogen cycle fuels by the world in a Nn\l c

{c) Phosphorus cycle ﬂ

d) Sulphur cycle
(@) P Y o Wf"c:h OI the followmg have species that

fa) Carbon cycle

can establish symbiotic relationship

3
28. Which of the following are dctn’w. mi?@“ with other organisms?

1. Eurtlmorms . Cnidarians
2. Jell !'s @ 2. :

Fungi
(’3@1@ cs 3

4. Scahorses

Protozoa

5. Woodli
o Select the correct answer using the

Select the correct answer using the SOse S ek,

code given below.

fa) 1 and 2 onl
(a) 1,2 and 4 only g "

() 2,3,4and 5 only : (b) 2 and 3 only
{c) 1,3 and S only {c) 1 and 3 only
{d 1,2, 3,4and 5 (d) 1,2 and 3
BXC-U-FTHI/68A 15 (PT.0
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31, T % Wiy R s DFN iR 3 e

3

Treferftn Fe w fram Hifirg :

1. TR FOYUR TSET & IERe 3 i
T R AR R
2. e e A fififa v gamen Af )

3. WA R\ W A i dop m-reh @
e 20 91

4. % oo A ¢ def unon o
g W 62 e & e on-wa W
a1

I FAl A PR w87

(@ 13R2

(b) ¥ 233

) 134

d 2, 33M4

ey

' : -&-mmmu@maa
T iR A el & Rie g, Rl
i A saen 71 Fieion Fe T o o
A # TR & mem A 99 B gafa fn
T 17

(a) HreEr
(b) e
(c) TV
(d) g

BXC-U-FTHI/68A

e

33, Wl el & wewt wguta A, Fefefea @ A

wl fem = R Fh w swam/
% wam fam o/a?

C L s

2. Tuwma
3. fafeneh

AR fg M 2 @ Wi w @ IR
(@) ¥ 1
(b) 13K 2
(c) ¥aw 3
(d) 2R3

0

4. Ty ;‘%m\? @ i :maﬁ T

ﬁ'ﬂjﬂ T 7% I Va1 Fefafe §
AT =i 1 T

Y % T
AT % TR
ar & g
FAra ¥ draf
afift % arem
T % s

- B e 8 ha.

41 e M g | wim = wd I gy
fa) 1,23Rs

) 1,3, 436

fc) 2,334

d) 536
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31. With reference to Chausath Yogini 33. In the first quarter of seventeenth
Temple situated near Morena, consider century, in which of the following
the following statements : was/were the factory/factories of the

English East India Company located?
1. Itis a circular temple built during ’

the reign of Kachchhapaghata 1. Broach

Dynasty. 2. Chicacole

2, It is the only circular temple built 3. Trichinopoly
in India.

Select the correct answer using the
3. It was meant to promote the code given below.

Vaishnava cult in the region.

4. Its design has given rise to & 1ol
a popular belief that it was (b) 1 and 2
the inspiration behind the Indian
Parliament building. (c) 3 only o
({d) 2 and 3 @
Which of the statements given above
are correct? o '

34 From®the 'dec!gr}x of Guptas until the
4, .4

ise of HaEshavardhana in the early

fa) 1 and 2 E‘V)cl‘l century, which of the following

“ \ kingdoms were holding power in
(b) 2 and 3 only m@ Northern India?
fe) 1 and 4 e\§ \,,

(d) 24\f 44

32\§Whtch one of the following ancient towns
is well-known for its claborate system
of water harvesting and management
by building a series of dams and

channelizing water into connected
. SC B .
reservoirs? lect the correct answer using the

code given below.

p—
.

The Guptas of Magadha

The Paramaras of Malwa

The Pushyabhutis of Thanesar
The Maukharis of Kanauj

The Yadavas of Devagiri

ol I o

The Maitrakas of Valabhi

{a) Dholavira

fa) 1,2and 5
Kaliba
(b) Kalibangan (b)) 1,3,4and 6
fc) Rakhigarhi (c) 2,3and 4
(d) Ropar (d) Sand 6
BXC-U-FTHI/68A 17 [ P.T.O.
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3s. yimel o qfe & wgen, ferrm am 37. frfafaa il w fmn fif ;

% nfgemd fFrafaftr # & fm & i fgq di?
- (Yo wam)  (af @ wRw)
. 1, 'ﬂﬁm ! ‘ﬂ?ﬂﬁ!%ﬂﬂﬁt
2. wifuema ;

2, UZEIT R e
3. wawm 3. TR ;O Ferptedl
4. vfawEmh

IEE gE i A BR-m/ER- T gitm
A fog o g2 1w I g i

fa) a1
(a) ¥ 1, 2 33

(b) 13R2
(b) ¥a@ 1, 3 3 4 ) ¥aa3

)
o as -\ {\
)

(d) 1,2, 334 i@%mﬁﬁimﬁ;:

“ Feqafie & wREEE H, S g iR
(\\@ s g A A i g @
36. iy Wm § v % e g A
memﬂ‘&?\ % 2. wgow Fm que % qmeE A, A3
Hear W afiEr fEn @ s fay T
(f))\ f‘rﬁ&mﬁﬂ\mnﬂqmm R H) ot
Wﬁmﬂfﬁm 3. Fowm we % Y W Rda ¥
W o, G 2 I ORE F 5 W
(b) i werdvn 3 el } oty 4% F @ g a0
WIS Wik 1 Aged fn
IFGE Tl A B/ AR T R/
e # arar fen
(b) 132
(d) en e adl FHa s A TR ) @3
e 7l ferdrdfivre Wk = e
v ) (@ 233
BXC-U-FTHI/68A 18
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38. According to Portuguese writer Nuniz,

36, With referen

(

BXC-U-FTHI/68A

the women in Vijayanagara Empire were
expert in which of the following areas?

1. Wrestling
2. Astrology
3. Accounting

4. Soothsaying

Select the correct answer using the
code given below,

fa) 1, 2 and 3 only
(b) 1, 3 and 4 only

(c) 2 and 4 only

-

{d 1,2, 3and 4 Jﬂk\@w \

to adanapallc of
Andhra Prad which,) one of the
.ftﬂlowmg aia e cnts is correct?
\\ LA
(a) Pingali Venkayya designed the
tricolour Indian National Flag here.

(b) Pattabhi Sitaramaiah led the Quit
India Movement of Andhra region
from here.

(c) Rabindranath Tagore translated

the National Anthem from Bengali

to English here.

(d) Madame Blavatsky and Colonel

Olcott set up headquarters of

Theosophical Society first here.

19

37. Consider the following pairs :

( Historical place) | Well-known for)

1. Burzahom Rock-cut shrines

2. Chandra-

ketugarh Terracotta art

3. Ganeshwar Copper artefacts

Which of the pairs given above is/are
correctly matched?
{a) 1 only

{b) 1 and 2

{c) 3 only

{d} 2 and 3
(o]

A0

o]

38. CQI‘ISIﬂCr thc following statements :

D It was dunng the reign of Iltutmish
that Chengiz Khan reached the
Indus in pursuit of the fugitive
Khwarezm prince.

2. It was during the reign of
Muhammad bin Tughlug that
Taimur occupied Multan and
crossed the Indus.

It was during the reign of Deva
Raya Il of Vijayanagara Empire
that Vasco da Gama reached the
coast of Kerala.

Which of the statements given above
isfare correct?

(@) 1 only
(b) 1 and 2
fc) 3 only
{d 2 and 3

| P.T.O.
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39, Fi=fifes swEl W fer fif

1. witwm 3fm, Jge @ (k) &
TEH weEl 1§ A @ Q)

wa Wit A A g W d g aw
el 3¢ wwita & e &1

e # wfa 9d w9 witm AR F 9
% 3rgEA R W R

IR Fl A A FA-R T

41. WA W@ F shrm F gl 1, wavf, Rmg

ad e i wRrg A7
@) 3wy

(b) TEHFRR

(c) T RGN
(d) i

42, Fafafas s w fean it

{a) Faw 1 3K 2
(b) %am 23R 3
{c) %aw 133
@ 1,233

40, WA R % fem F dof A, Pl
T T ¥ PH-T/F-A w20
1. fragn 3 ifa H Rifem Bl A adk
g fra snfa ) fafare iy 6

2. frmsn =men A, }ﬁuﬁﬁm\t@“\
Eﬂmraﬁﬁmﬁm\a:{f
mwﬁ@\mﬁ ‘\ ‘“*
Eﬁj?\ﬂ\@\\ \ \'a\lgﬂmqtm

3 W aEd A

\Cs. mmmm%mw
Tewl & gufa-ga Aol w Raw sl
R, Tafs Tmvm e el ofEr &
T8 T Afgen e, SR & dufn-wad
el R R w2

IR Ry e g2 = v = 7@ W ghu
(@) 132
(b) Fa9 2
) 1¥R3
(d) ¥ 3

BXC-U-FTHI1/68A 20

1. 1019 ¥ Wieg-Ieuwre gurdl &, 21 7§
¥ afim s R wh afensd F fig
waiuFER A g A )

1935 & e 3w ifewm R #,

fauree § aftenadt %T\ﬁ!&m

WWWWMWl
o a@@% Awd
f'ﬂﬂsn
{b) ¥ 2
(0 13K 2 3
(d 313 d2

43. Wiy sfem # 8 oM, 1942 F W d,

Frafafen sl § @ F9-maf@ ¥
{a) To 3ze Hlo Hlo TW WG B Y=
i form )

(b) EE f s FREfE w1 e
it wem A el B afifm F@ %
ferg ok man)

(c) | Wi & Hira Al X wvmE

(d) B 3 wem T s R foe g2 wm
A @ dpi fm Rew T Tl
w9 A g A el
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39. Consider the following statements :

1. St. Francis Xavier was one of the
founding members of the Jesuit
Order.

2. St Francis Xavier died in Goa and
a church is dedicated to him there.

3. The Feast of St. Francis Xavier is
celebrated in Goa each year,

Which of the statements given above

are correct?

fa)} 1 and 2 only

(b) 2 and 3 only

fcj 1 and 3 only

{d 1,2 and 3

40. With reference to the history of
ancient India, which of the following
statements is/are correct?

1. Mitakshara was the civil law for
upper castes and Dayabhaga was
the civil law for lower castes.

2. In the Mitakshara system, the sons
can claim right to the pmpcrty

during the lifetime of -thc I‘alhcr\=¢

v.hcrcas in the Daynbhaga systcm,
it is {only“(r ftcr’tﬁc cllcath of the
rgthcr thatlthgisons can claim right

@tn@c\propcrty

3L./The Mitakshara system deals with
the matters related to the property
held by male members only of
a family, whereas the Dayabhaga
system deals with the matters
related to the property held by
both male and female members of
a family.

!

Select the correct answer using the
code given below.

fa) 1 and 2
(b) 2 only
fe) 1and 3
{d) 3 only

BXC-U-FTH1/68A

41. With reference to the history of
ancient India, Bhavabhuti, Hastimalla
and Kshemeshvara were famous

{a). Jain monks
(b) playwrights
(e
{d) philosophers

temple architects

42. Consider the following statements :

1. The Montagu-Chelmsford Reforms
of 1919 rccommended granting
voting rights to all the women
above the age of 21.

2. The Government of lndla
1935 gave women res cd
in lcglslaturc ct% %
Which of ‘thc tatemgnt? given above
o ls[arc con‘ecl?

“ \ {a)? 1 only

(b) 2 only
{c) Both 1 and 2
{d) Neither 1 nor 2

43. With reference to 8th August, 1942 in
Indian history, which one of the
following statements is correct?

(a)

The Quit India Resolution was
adopted by the AICC,

(b) The Viceroy’s Exccutive Council
was expanded to include more

Indians,

(c)

The Congress ministries resigned
in seven provinces.

(d) Cripps proposed an Indian Union
with full Dominion Status once the

Second World War was over.

21 [ P.T.O.
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Miywma—di=g % fem’ A gz §7
(a) e TR e

(b) TR T

fc) WEem woree Mt

(d) WA R

45, TERIR wa § wed A, PefeRm A R
F-w e N 3R A AW A w
ek
(@) TORI—HTEHR—El
(b) WER—IUHI—El
fc) FA—HE—ITHI
(d) TOHI—FA—HHR

46. T A AF AR F w0 A R P wm A
Hag A/di, N aw § Jom Fie @ F ™
A 9 T Tm?

(a) TR

(b) %ﬁ?ﬁm&'ﬁ!

() iﬁ‘\ua N@\ﬁ
( @uﬂi‘hm

47, vl w@ & ol #, e @w R,

™ M weT R Een fie R ar f
T §

fa) R 3R IfeeER AR & @ W
#

(b) 1946 4 fafer awER & W % v i

(c) WRum wn # ey wfify & weali ¥ =
i

(d) Ime e w= (R Yvew amdl) &
siftmidl % w9

BXC-U-FTHI/68A

44, T A A7 R # arfa TR e wits

48, W sfowm & wol #, P @i 7
BA-T /A2 7@ ¥/

1. ER T A 3ER 6 fmm @ 3
M)

2. o w4 g 19 W 3= gl
3. Waws T W TH, AER WE G
T sifiga Teaea i R} gen)

#1R g T 2 Wi R wd 3w ghe
@ 132

(b) ¥ 2

) 23n3

(d) ¥ 3

49, ﬁQﬁMMﬁ%m@W%\@
(@) mimaw(jﬁjhh?ﬂﬂmﬁﬁlm%l
qq,a\z?aqmﬁimaﬁﬁlm%l

\\ \b%iﬁlw%ﬁﬂﬁl T @ f T

e

7 e €

(d) TRER W, NeEd @ R ad § R
{

50. Frafaftaa sl w fan fift ;.

1. IM@% (UNICEF) TW 21 &0 #
g wrvm Rawm difm R

2. wieam € dfavm an 8 1 win o
7§ 5 Tpvradt A aven @ o sRfE

o s
I FA A A BA-T /-2 @ R/
(a) ¥ 1
(b) ¥« 2
fc) 1323
d Ad1dMmad2
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44, Who among the following is associated 48, With reference to Indian history, which
with ‘Songs from Prison’, a translation of the following statements is/are

#

of ancient Indian religious lyrics in correct?

English? 1. The Nizamat of Arcot emerged out
(a) Bal Gangadhar Tilak of Hyderabad State.

(b) Jawaharlal Nehru 2. The Mysore Kingdom emerged out

of Vijayanagara Empire.
3. Rohilkhand Kingdom was formed

out of the territorics occupied by
Ahmad Shah Durrani.

Sclect the correct answer using the
code given below.

{c¢) Mohandas Karamchand Gandhi
{d) Sarojini Naidu

. 45. With reference to medieval India, which
one of the following is the correct
sequence in ascending order in terms

- fa) 1 and 2
- of size? () 2 only

{a) Paragana—Sarkar—Suba fc) 2 and 3

(b) Sarkar—Paragana—Suba (d) 3 only

() Suba—Sarkar—Paragana 49. Which one of the follmwng%la ments

{d) Paragana—Suba—Sarkar is corre ct?

0
Jan"ta Caw:s lie in the gorge of
Waghora “iver.
\ % Sancht Stupa lies in the gorge of
Chambal river.

{c) Pandu-lena Cave Shrines lie in the
gorge of Narmada river.

(d) Amaravati Stupa lies in the gorge
of Godavari river.

46. Who among the following was associated
as Secretary with Hindu Female School
which later came to be known as‘
Bethune Female School? }sﬂ'

fa) Annie Bcsanl
fb} chcndrax@h\_ggore

ln!m*ag,Ch\andra Vidyasagar
( \ §0. Consider the following statements :
1. 21st February is declared to be
47. In the context of Colonial India, Shah the International Mother Language
£ Nawaz Khan, Prem Kumar Schgal Day by UNICEF.

and Gurbaksh Singh Dhillon are 2, The demand that Bangla has to be
remembered as onc of the national languages was

Saro_]lm Naidu

(a) leaders of Swadeshi and Boycott
Movement

(b) members of the Interim
Government in 1946

(c) members of the Drafting Committee
in the Constituent Assembly

(d) officers of the Indian National Army

raised in the Constituent Assembly
of Pakistan.

Which of the above statements is/are
correct?

fa) 1 only

(b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

BXC-U-FTHI/68A 23 | P.T.O.
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51. Wl Ff (wiFem), wuke ks Fh @
framefmer
1. Wil W owwa R owh o #
wdicaTiea Fan ¥, fFeg mufes TemfE
i # wur i vafa A auEm R
2. Wit TR IR % = g A

wava # 3fg @ v R, g W oA

) ftaen wurh Fu A e 7@ o
i

3. wivheE tamtE o anige & #
sl A wa ¥, freg @ A wh
Ff gl st A B T R

4. weu gan (afein) ) v e FR#
F6 wewEg R, frg ahs e
iU § W v stz 76 )

AR Ry m 3z 7 wEm = @ W gh)

(@) 133

(b 1,234

fc) ad 4

d 233

A
. ‘@ ¥ (m amﬁ\?s\g \’
m;:a;c
(’ mgaﬁmqﬁqﬁmﬁm

mnwmh

2. % 4o foufes ok @ =m 9@ 5o
e % fem e A R

3. R i@ W I ¥a dea F I i
o = R

ITH Fel A D IR T Y

(a) F=a 1 3R 2

(b) Fa@ 2 ik 3

(c) ae 133

d 1,233

BXC-U-FTHI/68A

53. fay 7@ womeh & Wl ¥, Foaffaa an AR
# A dr el i A Bl @ = i et §
3 A fiy 0 | frerd {1 Frafofiaa 32 92
T w- R, 9 fay T A 90 e @7

(a) ¥ TH
(b) Hem
{c) T

(d) WagH

54, W ¥ e & drzam, TuE, Foiie ol an, :

o am §7

I 1 A - R ol e A e §7
(@ 13R2
(b) 23R4
) 334
(d) 133
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51. How is permaculture farming different

from conventional chemical farming?

1. Permaculture farming discourages
monocultural practices but in
conventional chemical farming,
monoculture practices are pre-
dominant.

53. With reference to the Indus river system,

of the following four rivers, three of
them pour into one of them which joins
the Indus direct. Among the following,
which one is such river that joins the
Indus direct?

2. Conventional chemical farming can (&) Chenab
cause increase in soil salinity (b) Jhelum
but the occurrence of such
phenomenon is not observed in fc) Ravi

g permaculture farming. )

3. Conventional chemical farming is (d) Sutlej

casily possible in semi-arid regions
but permaculture farming is not so
casily possible in such regions.

4. Practice of mulching is very

54. With reference to India, Didwana,
Kuchaman, Sargol and Khatu are the

names of
important in permaculture farming
but not necessarily so in (a) giacicrs
conventional chemical farming. °

(b) mangrow: arcas

N\ \ fﬁ) ansar sites

{d) saline lakes

Sclcct the correct answer using the
code given below.

fa) 1 and 3
(b) 1,2 and 4

fc) 4 only
§5. Consider the following rivers :

(d) 2 andy3 B 1
52. W,uh rcf'er \@alm oil’, consider the 1.

Brahmani
folbwwg slmcmcms . )
( Thc palm oil tree is native to 4 Hagivel
Southeast Asia, 3. Subarnarekha
2. The palm oil is a raw material for
: some industries producing lipstick 4. Vamsadhara

and perfumes,

Which of th bo i
3. The palm oil can be used to o SN D e e

Eastern Ghats?

> produce biodiesel.
:\luzl;"ci tt?hc statcments given above (@ 1 and 2
{a) 1 and 2 only fb) 2 and 4
(b) 2 and 3 only
fe) 1 and 3 only W Saa 4
(d) 1,2 and 3 (d) 1and 3
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56. Fefeiaa s R e Fif :

1. A= g aEm (WEe A FH)
sidi wa-am 3§ ap-awia (HEe)

3. 'gTw m wfwm Qe wd PeE)
i @-dm § WR AEE W

’ﬁ“@m

tﬂuﬁﬁﬂ mﬁmm%um

BXC-U-FTHI/68A

26

59, TEE-3EE FN (FEH-FR OiiEeR) &
e wwa Al & el A, Foafafa s
‘Ilﬁﬁ'fl'ﬁﬁﬂ:

@ i TR % fon aRee RE Ew 1. mﬁ'mm-mﬁm(ﬁsﬁz-?mi
{ f)  ofewm, omigE  TEE
2. W@ 3 a8 § wR-vel FFR—eay whad, R
aft @ % forg gdm wm R g (fo HWo To The W) TW

garfea ofde F T um Ry
2. o do To Tho TWo TRENHI, HIEA

e B R omEem ¥ TRl W
(@o He 3@o To M) F AR
34 el 813 -2 W R Hafera frn e &, Rree geaed HE
(@) F=a 132 34
(b) ¥ 233 3. wm A fm s i
() ¥ 13 oA ToE  3gEY
(d) 1,233 (3mge dle :m(a 3]'[30 THo'\\To ao,
To o%aﬁamﬁ
. ffe § @ 0 o, T AW ﬁ\iw:U\
= T 7
o) T P\\C N @ wmishe
k’ (b) Faa 2 3 3
e} =
@ () Faa 133
(@) T 'Smm
@ 1,233

60. “‘Ti-Fe (el forn) et o <fdm (amdim)

ottt i Al $ g0 ¥ TN A RaRe dm b i
. ¥ ¥ afafes, a7 3 fafty wwr F 99 9@ ¢
2. didm & #, ufinll wom ofish @t f
S vl G B e N Amew F T A ARy (RER) F w
g A e % TR TS % i T e e a0
bl ot ¥31 ) w0 s @ 5 wn 8 T
I Tl § A FR-/FA-2 7@ /¥ T wad i wéie foa 87
(a) ¥=E 1 fa) TFUT
(b) ¥ 2 (b) [ T
(c) 1323 () A (k) |
d AR1dmad2 (d) SorsiEdR auie
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56. Consider the following statements : 5§9. In the context of India’s preparation for

1. The Global QOcean Commission
grants  licences for  seabed
exploration and mining in
international waters,

2. India has received licences for
seabed mineral exploration in
international waters,

3. ‘Rare carth minerals’ are present on
seafloor in international waters,

Which of the statements given above
are correct?

fa) 1 and 2 only
(b} 2 and 3 only
fc) 1 and 3 only
fd) 1,2 and 3

57. Among the following, which one is the
least water-efficient crop?

(a) Sugarcane

{b) Sunflower Q
{c) Pearl millet k\@
{d) Red grm\n
\
58, Cons;der(\c follm\n'é’sta ements :

\C @ Othe tropical zone, the western

sections of the oceans are warmer
than the eastern sections owing to
the influence of trade winds,

2. In the temperate zone, westerlies
make the castern sections of

occans warmer than the western
sections,

Which of the statements given above
is/are correct?

(a) 1 only

{b) 2 only

{¢) Both 1 and 2
(d) Neither 1 nor 2

BXC-U-FTHI/68A 27

Climate-Smart Agriculture, consider the
following statements :

1. The ‘Climate-Smart Village’
approach in India is a part of
a project led by the Climate
Change, Agriculture and Food
Security (CCAFS), an international
rescarch programme.

2. The project of CCAFS is carried
out under Consultative Group on
International Agricultural Research
(CGIAR) headquartered in France.

3. The International Crops Research
Institute for the Scm(iJ-Arid Tropics
(ICRISAT) in India |s\one f the
CGIAR's research cem%s\

Whlch c\a\f th@s‘atc@cms given above
om:ct?

and 2 only
(b} 2 and 3 only
f¢) 1 and 3 only
(d 1,2 and 3

60. “Leaf litter decomposes faster than in any

other biome and as a result the soil
surface is often almost bare, Apart from
trees, the vegetation is largely composed
of plant forms that reach up into the
canopy vicariously, by climbing the
trees or growing as epiphytes, rooted
on the upper branches of trees.” This is
the most likely description of

{a) coniferous forest
(b} dry deciduous forest
(c) mangrove forest

(d) tropical rain forest

[P.T.0.
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61. wam A Fwls § frat gy ok 34 & W
e % e T &, fg foega 4w A = 9w
7 3 &1 W & A fem a: w@
7 e 11 g ifedf $ e & T
fifra g R W oRfeufrl Pl 3 2
PR &7

famrti yoft 3 s
i

A ae g woh (eRfE)
Treef) =i

TE
#R R T 2 | W W ad Iw gh
(@ 132
(b) 43¥ns

L~

) 2,334

62. gwﬁwm m‘
*@\

aﬂtma’iﬁaaemwm ¥ )
nﬂl%:ﬂﬁﬁm

2, ydm ferear ofR fowel # s ) wEn,
5@ A A A i R

I FE A A PA-m/AR-D @ R/
fa) %€ 1

(b) % 2

{c}- 1 3 2 3H

fd) AM13RAH2
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63. Fmfafaa s w fen it

1

AN (FFH 96) T FelRR TERl 349
R

el w1 I3 < i w1 wifE 9w
]

i & it Pl @Y TR F
# a6 sl B

YA el 3l Afem & 4w frafa w
i

Ao i el ¥ dS w=oIwEm W
[ & 3era ¥ fEn s v )

ol e 7 2 A w0 @

Yaiyos

1, s \&K\@Q @ 1,334

d 1,2 335

64. WA § Fell U@ g1 A @, Fefafae 3 |
fora sroemm @ g @7

(@ T

) TRl (fFm) sremda Tzm

fc) g v Rre

(d) e 3R FA-geeR
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61. The vegetation of savannah consists of

grassland with scattered small trees,
but extensive arcas have no trees. The
forest development in such areas is
generally kept in check by one or more
or a combination of some conditions.
Which of the following are such
conditions?

Burrowing animals and termites

Fire

1

2

3. Grazing herbivores
4. Secasonal rainfall
5. Soil properties

Select the correct answer using the
code given below,

fal 1and 2
) 4 and 5
fc/ 2,3 and 4
{d) 1,3 and 5

62. With rcfcrcnm: toE’! alcr_—#on the
planet Eanh, consider thc following

(

statcmen

\ &/
@ Th amount of water in the rivers
and lakes is more than the amount
of groundwater,

2. The amount of water in polar
ice caps and glaciers is more than
the amount of groundwater.

Which of the statements given above
is/are correct?

(a) 1 only

b} 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

BXC-U-FTHI/68A
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63. Consider the following statements :

(=]

RNARS

1. Moringa (drumstick tree) is a
leguminous evergreen tree.

2. Tamarind
South Asia.

tree is endemic to

3. In India, most of the tamarind is
collected as minor forest produce.

4. India exports tamarind and seeds
of moringa.

S. Seeds of moringa and tamarind
can be used in the production of
biofuels, o

Which of the s emcnts &vcn above
are;corrccl?

%\12 4 and 5

(b) 3,4 and 5
fc) 1,3 and 4

(d 1,2, 3and§

64. The black cotton soil of India has been

formed due to the weathering of
(a) brown forest soil

(b) fissure volcanic rock

{c) granite and schist

(d) shale and limestone

[P.T.0.
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65, ‘TrARm (faife) e AWl A e
e ¥ fem F v #, Aefafm w6 w
fram fifer
1. ¥ YwE & fawm § e Hhfad

T wim fem @ ¥
2. e ol e w wm S
(F=R) & = A e s R

I0E FAl A A BR-W /A8 7 R/
(a) =1

(b) %A 2

fc) 1323

(d AM13mIA2

66. gais T & Wl A, fefafm ww w
feram ifg
1. 3@ & Imwm (@A) i A ad
W W AR A gEEE wieemR
(TRwRym fatwie) fufeem o
Wﬁﬁmﬁfﬁ(mﬁ?ﬁﬁmﬁﬁ!\“)ﬁ
Ta-fem & gam & W@ A A9

Rl
. f\\“
ﬁ““ “\"’W‘?"‘“"‘

@mmhfaﬂma

\(’ %8 /- w0 b/
(a) ﬁr«'al

(b) Fa@ 2

(9 1323

L RECER P

67. afemé-] 3in Famé-n Pt @ B
T ol & o v R7

(a) FEER YEG W T Tad

(b) TIEARTF T A TG FEE @6 w@
EEar]

(c) T e vl w1 e
(d) 3 I ® I
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e\

68. frf I 3, firm TR W T v Iw

%, 9% qera: frefafaa 3 R R w fok @
??

1. =uA 1 fer foz = daee

2. I F A9IH

3. WA 9N

IR Ry e g2 T owm @ IR g
(a) @ 1 3R 2
(b) ¥aw 233
) *=a13R3
d 1,233

69. Frfafaa w fran Hifig

1.r-ﬁ'q113

=i o

\\_\ﬁﬁﬁxw,’mﬁﬁawimﬁiﬂ
(a) Fa@ 1 32
(b) Faa 23 3
() %= 133
(@ 1,233

70. Fafafes 99 w fam B

1, Wﬂﬂ“ﬂ g Q?ﬁ'!-?ig Fo Wo To
TR (SfHm) 8 §, wafF Gemw |
f2-4g o Wo To Wl (<frim) T ¥

2. ®fi-wht am gEm WEEEE F F
T &, SAf% TgE (T Mo o Tho)
EEmEw F g R

IR weEl 8§ A PA-m/ER-2 T /R

(a) ¥ 1

(b) %E@ 2

@ 13R23

(d 3@ 1ARAA2
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65. With reference to recent developments
regarding ‘Recombinant Vector
Vaccines', consider the following
statements ;

1. Genetic engincering is applied in
the development of these vaccines.

2. Bacteria and viruses are used as
vectors.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2

66. In the context of hereditary diseases,
consider the following statements :

1. Passing on mitochondrial discases
from  parent to child can
be prevented by mitochondrial

68. In a pressure cooker, the temperature

at which the food is cooked depends
mainly upon which of the following?

1. Area of the hole in the lid
2. Temperature of the flame
3. Weight of the lid

Select the correct answer using the
code given below.

fa) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
{d 1,2 and 3

69. Consider the following :

(o]
1. Bacteria \“
2. Fungi \
3. o Vll"l.ls °

Wh:ch nf\lhc“abovc can be cultured in

1 and 2 only

replacement therapy either before 1f"mal/synthet1c medium?
or after in vitro fcruhzm:on of egg: '“iéj

VA

2. A child inherits m:tochondrial
discases cntirely from molher and
not !‘rP:q \}hcr‘ﬁN\ L
Wh:;:rh\uf“the st emients given above
,m[arc corrcc:?

( (@\ ‘l’énly

{b) 2 only
{c) Both 1 and 2
(d) Neither 1 nor 2

67. Bollgard 1 and Bollgard 11 technologies
are mentioned in the context of

(@) clonal propagation of crop plants

{b) developing genetically  modified
crop plants

fc) production of plant  growth
substances

(d) production of biofertilizers

BXC-U-FTHI/68A 31

(b) 2 and 3 only
() 1 and 3 only
(d) 1,2 and 3

70. Consider the following statements :

1. Adenoviruses have single-stranded
DNA genomes whereas retroviruses
have double-stranded DNA genomes.

2. Common cold is sometime caused
by an adenovirus whereas AIDS is
caused by a retrovirus,

Which of the statements given above
is/are correct?

{a) 1 only

{b) 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2

[P.T.O.
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71. v frdl 3= 7 A R s vadl B 9E
A R, HiE
(a) T wEfa fagdta
(b) TE T T FECH 2
(c) T fafre Fon 1 W 3= g @
(d) T TGN F TH EE R

72, WeF TEW wwd & @i #, Afmm afwl,
moiomoaﬁsﬁﬁﬁHmﬁH%‘?
1. wifeam aftel wm 91 360 fooft A 3w
mg,‘ﬁamofoﬂoﬂﬁ*ﬁﬂtﬂl
ek

2. WeH 4 afvdl F #9 A, Two Fo Fo
afidl f gem A Wfem afw A
I srafu st B R

3. wifean = & 3@ YH T WIR A
wwad] g R, Fafs o do do Afwul
FeF T Fae i mds avi glaund

@ 1,243

73. 'ACE2' R %1 33@ farm ol 1t firm s ¥7
(o) FFETE ¥ A FUw@RG gRd
R (o) §H
() W@ % el Jur d9ER vl #
form

() T whbE ® R @A F fag T
Her

(d) foramfia I @ wER
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(mug&éa)mm’el “ \ﬂ@;\\

74, TféFia A (BPA), @ o =1 @Fm R,
fr=fafan 1§ A frm Ten & wifes & IarA
T (& WA (A T
(a) Fr= T T ity
(b) diteEREHE
(c) viterefuei d9dce

(d) SRS FARE

75, Frfafta # A frel ‘TR’ %ﬁmﬂﬂﬁ
$ waifis g R, ﬁm%aﬁﬁaﬂ

m%mﬁmﬁm&mm\m\a
(a) mhqfttﬁ@\(\
\fb%ammam
(c) THIE RS F T

(d) wenR Wi

76, @iel Ffal wE@-ad § TR TR w®OFO
frefafa 3 3 Pa-w 7

(o) T i@ & 4 6 el el T
ek d

(b) ahia il o e wiafa 7 @ R
(c) v FEa e Yan # g = R

(d) v A R (eiE) 9tE R P
d

32
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71. Water can dissolve more substances than
any other liquid because

fa) it is dipolar in nature
(b) it is a good conductor of heat
fc) it has high value of specific heat

(d) it is an oxide of hydrogen

72. With reference to street-lighting, how do
’ sodium lamps differ from LED lamps?

1. Sodium lamps produce light in
360 degrees but it is not so in the
case of LED lamps,

2. As street-lights, sodium lamps have
longer life span than LED lamps.

3. The spectrum of visible light
from sodium Jlamps is almost
monochromatic while LED lamps
offer significant colour advantages
in strect-lighting.

Select the correct answer usm\\t’:hi
code given below.

(@ 3 only \X\@
{b}“\Q
\(’ and 3 only

{d 1,2 and 3

73. The term ‘ACE?2’ is talked about in the
L context of

(@) genes introduced in the genetically
maodified plants

(b) development of India’s own satellite
navigation system

(c) radio collars for wildlife tracking

(d) spread of viral discases
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74. Bisphenol A (BPA), a cause of concern,

is a structural/key component in the
manufacture of which of the following
kinds of plastics?

fa) Low-density polyethylene
(b) Polycarbonate
(¢) Polyethylene terephthalate

(d) Polyvinyl chloride

. 'Triclosan’, considered harmful whcn

exposed to high levels for aCIun
is most likely present in “.h
following?o

Q

(a), Féod ;R)\resenta tives

\ (b) rult-npcnmg substances

fc). Reused plastic containers

(d) Toiletries

76. Which one of the following is a

reason why astronomical distances
arc measured in light-years?

(a) Distances among stellar bodies do
not change,

(b) Gravity of stellar bodies does not
change.

(c) Light always travels in straight line,

(d) Speed of light is always same.

[ P.T.O.
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77. T faftw wize W nuia deda dEdE R
s 3, feg T wiem 3w Wiea A
waR firm R7

1. i o fufu-fmin = @@y R, fafew
WHe AR gE duy §, feg wRa 8
wae i fafu-Fmiu 6 afe i )

2. WRa #, e F T sfufvm & dmem
# dufwa | daiie AMe IR
oA TN e 9 NS 9 R 2

41 g T T2 = wim W IW YR
fa) Faa 1

(b) e 2

(¢ 1323

@ AM13dmad2

78. €9 WER & W 7, ﬁmfeffiaawﬂ

= e\ >

1. o mgnvﬁrﬁr
fen = ﬁi mﬂaﬂl\ﬁﬂﬂﬂﬁﬂaﬁ
L \\-:0
mmﬁm%ﬁ%

\c @fm mﬁaﬁmmmﬁm

2, WM GUR @M, 1966 W &
MR W 99 1970 § wiffs fwm =
727 T T iR @ e F TR %
i @ ™|

T FE A A B AR A
(a) F== 1

(b) ¥ 2

(c) 1323

(d F@13RAd2
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79. M@ F uRUR % fFW gk ¥ siada
‘T =1 iR dilda R7

(a) ¥R 15
(b) SRR 19
() ¥R 21
(d) =R 29

80. Fr=fafas Fui w e it :

I miirmﬁréwﬂﬁ% w@ﬁzﬂ
5 @ mwﬁiﬁq
ﬂaﬁﬂ%ﬁﬁ@ ﬁm%u

T 1991%?&?'%):11%11 A ¥ @
mﬁaiaq%a’lﬂaﬂmﬁm

i el % sEm, o W e
il @ &% o R 1§ = feis-
&1 8 T @ R, @ o v A A
faf-8l § -gE =1 @d B/
gy, g 391 @l frn @ 9wd =8
vt Fratea-a # foedt gan @)
Tk el & @ /a2 W A/ ,
fa) F=a 1 J
(b) %4 2
) 13R3

(d 233
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77. We adopted parliamentary democracy 79. Right to Privacy’ is protected under
based on the British model, but how which Article of the Constitution of
does our model differ from that model? India?

1. As regards legislation, the British
Parliament is supreme or sovereign
but in India, the power of the

(a) Article 15

Parliament to legislate is limited. (b) Article 19
2. In India, matters related to (c) Article 21

the constitutionality of the

Amendment of an Act of the (d) Article 29

Parliament are referred to the
Constitution Bench by the

Supreme Court. 80. Consider the following statements :

Select the correct answer using the

code given below. 1. In India, there is no law restricting

(a) 1 only the candidates from contesting in

() 2 only one L:ok Sa!:ha clectior from“three
constituencies.

fc) Both 1 and 2 .

(d) Neither 1 nor 2 2. In ‘7991 Loquabha Election,
Shn Dev:\‘/ contested from three

.ﬁs per the existing rules, if

1. N Gopalaswamy L h@ﬁ& a candidate contests in one Lok
Committee suggcsted‘\\thai \ Sabha

il
minister yand ~a sccrctary be
dcs:gnaicdﬁlc(fb;l’or pursuing the
Qubjcct \ofﬁadmimstmtuc reform

78. With reference to the Union Government, I—»Ok Sabha constituencies.
consider the following statements : “ \

clection from many
constituencies,  his/her party
should bear the cost of bye-

abh R clections to the constituencies
abpmmotlng it. vacated by him/her in the event

(2 In 1970, the Department * of him/her winning in all the
of Personnel was constituted constituencies.

on the recommendation of
the Administrative Reforms

Commission, 1966, and this was Which of the statements given above
placed under the Prime Minister’s is/are correct?
charge.
Which of the statements given above (a) 1 only
is/are correct?
{a) 1 only (b) 2 only
(b) 2 only
c) 1
fc) Both 1 and 2 “ -
{d) Neither 1 nor 2 {d) 2 and 3
BXC-U-FTHI/68A 35 [ P.T.O.
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81, f=fafam s w fomm fift

1. ‘'t w afen’ v wem nea SR
? A @ waw A, wgw g ¥R

wﬁéaﬁf%rmﬁ%m@
\C m‘%g&mém%mmﬂw
s @ 7 f6 9 A

2. % froma & 9w, TR F owwrd
yferm aftarll, =mem A oEfy %
for sy =afr A qEae T W ww

I oAl A A BR-T/BA-A T R/

(@) % 1

(b) Faa 2

€ 1 323w

d A 13Mmad2
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83, wia & wl A, Pefafm Fel ®w fEr
Hifem .

1. V4 U %) wWin nur g w7 g, |

(To Wo tRR) WRF W T A W ¥ 9 W= v 7 fFo s e,
ftagmait | A w1 Hifh T8 I AR F A 99 AR
2, ‘metw AfER TR F TAF Frard A R
TR N UEuHE WE # amE o 2. & 9 Y& W g5t & fog = Tl
(fwm) W wdafw wonfm = F I fam B
ftrFR W R I Fol A DA-/A-2 T R/
3. ‘mew Afvw = amE T @ 6 T, S
TR A sl afed B R ) @ (a) A
a1 e ghwn @ dfm 7 = | (b) @ 2
s e 2 -2 @ A/ () 1323
ra) O (d F@1Rad2 D\@
(b) ¥ 3 84. u@uwmaq@ak o 3 TRt
)
@ 132 i 56 ) afufm,
G aa 2006# mﬁmtﬁgﬁfmmﬁ‘&s
(@ “ T e e (e
% H ﬁqﬁ:rfm “"\’\@ mw
- “gﬁm ® ﬁ"“ (a) WaTaw, 97 3N weEw SiEdA TEem
(b) AT T AR
(c) Tt e e

(d) AR w1 TARE

85. FFH F @ FW &% AW A F§ faum, RN
el Frives sy wawle Titel 9
el w sttt fwfer 2§, e
& wfaum % frefife a4 4 @ feew
I w7
(a) IR 14
(b) IR 28
fc) TR 32
(d) TR 44
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81. Consider the following statements :

1. 'Right to the City’ is an agreed
human right and the UN-Habitat
monitors the commitments made
by each country in this regard.

2. ‘Right to the City' gives every

83. With reference to India, consider the

following statements :

1. When a prisoner makes out
a sufficient case, parole cannot be
denied to such prisoner because
it becomes a matter of his/her

occupant of the city the right to Tt
reclaim public spaces and public 2. State Governments have their own
participation in the city. Prisoners Release on Parole Rules.

3. ‘Right to the City’ means that the
State cannot deny any public
service or facility to the

thorized colonies in the ci by Sodly

unauthorized colonies in the ci :

. - - (b) 2 only
Which of the statements given above () Both 1 and 2

is/are correct?
(d) Neither 1 nor2 o

Which of the statements given above
is/are correct?

{a} 1 only \\

{b) 3 only 84. At the nnhonal l':wel which) ministry is
the nodal @e Y \to “ensure effective

fc) 1 and 2 lmplcmcnta‘.lmll of the Scheduled Tribes

and Oth‘ir Traditional Forest Dwellers
~(Recognition of Forest Rights) Act,

(d) 2 and 3
82. With reference to Indm, \co ( E\k "

following slatcmcnts: (a) Ministry of Environment, Forest

1. Judrcmlfct.\wt\ndy mqans an accused and Climate Change

is 1ﬁ‘~h1.e cﬁastody oﬂthe concerned (b) Ministry of Panchayati Raj
agzs atc and such accused is fc) Ministry of Rural Development
IDOk li tati , i i .
( a in _::ll WP 5 ol Stataa oot (d) Ministry of Tribal Affairs

During judicial custody, the police
officer in charge of the case is not
allowed to interrogate the suspect
without the approval of the court,

85. A legislation which confers on the
executive or administrative authority
an  unguided and  uncontrolled
discretionary power in the matter of

: Which of the statements given above application of law violates which one

is/are correct? of the following Articles of the

Constitution of India?

{(a) Article 14
fb) Article 28
{c) Article 32
(d) Article 44

{a) 1 only

{b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

BXC-U-FTHI/68A a7 i
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=fd g0 ISR AEEE | fatgd
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i & 9 W 437 3R FH w4

ORI < ww Y

fraffm afefif @0 &1 2. W@ # Rl o) 3| AEem A AW
, Pty %yl ) afe Y, 4
S s e 1 /- A/
(@) F=@ 1
(d) T ST <Al g0 EdEe g & wi
@ 1323
(@ aMi1dmad2 0
87. Pl # 3 A-m TR TR P A , _ k\(\
N S _ 89. wRa & wa 3, FE W, R

2. & =% ww A T A, T @
TUIAN 99 G R

3, fmfRdl A wwmamiEm dwR,
feed ot oftfeufa 3 =) R dfem =
o = wean

S ) v 7 S A :f“;ff tenu/en-d W

e ) gl @ iR wn § ) 2
(© T A =, N Al i g 2’;};3‘12

oW A I R, Wk

-SR] % WY TEa A % 90. Pefifaa # ¥ PR-m T Al =R e

# w6 waww gen  Faw w5 R

(@) & B pm A wdll WA @ fa) & wivas =wfas

e, fwdh w Fr il e (b) wftRdl &1 FEE

i wiiteT & wfa el FrimkE (c) Traifum w@r

ol ©F e A (d) iRt F1 G
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86. Which one of the following in Indian
polity is an essential feature  that
indicates that it is federal in character?

fa) The independence of judiciary is
safeguarded.

(b) The Union Legislature has elected
representatives from constituent
units.

fc) The Union Cabinet can have
clected representatives from
regional parties.

(d) The Fundamental Rights are

enforceable by Courts of Law.

87. Which one of the following best defines
the term ‘State”?

fa) A  community of persons
permanently occupying a definite
territory independent of cxlerrml\

control and posscsafng \
organized governmen

1\A 2 N

{b) A poimr:ally orgamzed people of
a ﬁ,deﬁmtg tcmlmy and possessing
axybaulhonty to govern them,

(‘“\

maintain law and order, protect

\m

88. With reference to Indian judiciary,
consider the following statements :

1. Any retired judge of the Supreme
Court of India can be called back to
sit and act as a Supreme Court
judge by the Chief Justice of
India with prior permission of the
President of India.

2. A High Court in India has the
power to review its own judgement
as the Supreme Court does.

Which of the statements given above
is/are correct?

{a) 1 only

&) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

\0

89. With refm'cnce:\t\o ncha.D ider the

follo\é(mg state men

T{::crc s only one citizenship and
onie domicile.

A citizen by birth only can become
the Head of State.

A foreigner once granted the
citizenship cannot be deprived of
it under any circumstances.

Which of the statements given above
is/are correct?

their natural rights and safeguard fa) 1 only
their means of sustenance () 2 only
fc/ 1and3
c) A number of persons who have d) 2 and 3
been living in a definite territory
for a very long time with their own 90. Which one of the following factors
culture, tradition and government constitutes the best safeguard of liberty
{d) A society permanently living in ' & liberal democracy?
a definite territory with a central @ A committed judiciary
authority, an executive responsible (b) Centralization of powers
to the central authority and an {c) Elected government
independent judiciary (d) Separation of powers
BXC-U-FTHI/68A 39 [ P.T.O.
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91. Wrdr whum % siwfa W 1 F=hww 94, WifuIR® T&ER F WA 7 7

v @ B T B o e
(@) WHa 1 AR wfaffs e
(b) # wEn, Rk v F g e f
() = it Aifa F P o= afat
(c) A w1 @ () * wan, s wg@ F om awls
aiftral €
k) e ) @ W wen, @ dReE B e @
g B

92, Wrw i ok & fun R w=n Al {7 s ek i, B W i

(a) e faftes wfieme &, A Fam TR B weifim &7

R & (a) MR W@ F TEE
(b) ue fafies sifirem &, <h fimdt oft =afes =t (b) AR o

R o (e mﬁRm%\\ EWQ
(C)ﬂzrmsiﬁ:m% ahaaamfmm \\\m A

96. WA 3R T grEd % H4v #, Prefafa

(d)%aehg?ﬁ iﬂ- ;

k'\B% F R fer fif

W\@ 1. KA 3R T gEERR, WRE @ wfaum
( Q¢

& =02 18 (1) % area Iuriil )

93. 26 w0, 1950 B WRA B AR 2. @ 1954  wrin fig R v R A
wifamfs fufy 70 47 Fadl w9 Pef@ fFn mm o
: 3. frll ad-fdm & s gl A
(a) - CRTATES T siftram wen uta @ i 21
(b) WY MR -HYA SRS O IR Bl § A PR e
() W - Gy (@) ¥ 1 o2
TR (b) Faw 2 3R 3
@ ¥ R e G o) ¥ 13
AIHAATTH T @ 1,233
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91. Under the Indian Constitution,
concentration of wealth violates

fa) the Right to Equality

{b) the Directive Principles of State
Policy

fc) the Right to Freedom

(d) the Concept of Welfare

92. What is the position of the Right to
Property in India?

(a) Legal right available to citizens only

(b) Legal right available to any pcrson “

¢/ Fundamental R1 ht availabl to
ctuzcns 0nly

(@, Ne Iﬁmfr\ Fundamental Right nor

Cads

93. What was the exact constitutional status
of India on 26th January, 1950?

(@) A Democratic Republic
{b) A Sovereign Democratic Republic

fc) A Sovereign Secular Democratic
Republic

(d) A Sovereign Socialist Secular
Democratic Republic

BXC-U-FTHI/68A

94. Constitutional government means

fa) a representative government of
a nation with federal structure

(b) a government whose Head enjoys
nominal powers

(c) a government whose Head enjoys
real powers

(d) a government limited by the terms
of the Constitution

95. With reference to India, the terms
‘Halbi, Ho and Kui’ pertain to

fa) dance forms of Northwest hdla
(b) musical instmn{enta
{c) “pre- h:sta@chf&pmnﬁngs

% tnbal\\languagcs

96, Consider the following statements in
respect of Bharat Ratna and Padma
Awards :

1. Bharat Ratna and Padma Awards
are titles under the Article 18(1) of
the Constitution of India.

2. Padma Awards, which were
instituted in the year 1954, were
suspended only once.

3. The number of Bharat Ratna
Awards is restricted to a maximum
of five in a particular year.

Which of the above statements are
not correct?

fa) 1 and 2 only
b) 2 and 3 only
{¢/ 1and3 only
fd) 1,2 and 3

[ P.T.O.
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97. Consider the following statements :

Statement 1 ;
The United Nations Capital
Development Fund (UNCDF) and
the Arbor Day Foundation have
recently recognized Hyderabad as
2020 Tree City of the World.

Statement 2 :
Hyderabad was selected for the
recognition for a year following its
commitment to grow and maintain
the urban forests.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement 1 and Statement 2

are correct and Statement 2 is the
correct explanation for Statement 1

(b) Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation for

~ Statement 1

(¢} Statement 1 is correct

‘ Statement 2 is not corrcct l\&

{d) Statement 1 is noL?‘ corrcc bub
Statement 2 js cormct\

\\a \
98, Conmdcr th:, fulluw:ngdstatemcnts in
frcspcct\o{j ﬂ;\c Laureus World Sports

J%m:diwhlch was instituted in the

Year 2000 :

1. American golfer Tiger Woods was
the first winner of this award.

2. The award was received mostly by
‘Formula One’ players so far.

3. Roger Federer received this award
maximum number of times
compared to others.

Which of the above statements are

correct?

{a) 1 and 2 only

fb) 2 and 3 only

{c) 1 and 3 only
(d) 1,2 and 3

BXC-U-FTH1/68A 43

99. Consider the following statements in
respect of the 32nd Summer Olympics :

1. The official motto for this Olympics

is ‘A New World’,

2. Sport Climbing, Surfing,
Skateboarding, Karate and
Baseball are included in this

Olympics.

Which of the above statements is/are

correct?
° \ﬁ\

{a) 1 only

{b) 2 only

(c& Both lc.n

ArdD
\O

nor 2

100. Consider the following statements in

respect of the ICC World Test

Championship :

1. The finalists were decided by the
number of matches they won.

2. New Zealand was ranked ahead
of England because it won more
matches than England.

Which of the above statements is/are
correct?

{a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.0.
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